%5 I 2073
lectwe, 24

A b A
s~ D1 (US4 %

BX 234, 1235, 236, 75, 138,739 ,240,245

Engy  consew ahan
' )

Newlon§ Lows emm@ qive an 'QXOMPQO} T

o iy

on  an O‘bjecf 15

1 e only foree Haad does Non-wro W ok
gravihy | then u‘v}ajé/w?j

E = K+ Ugrao

'S lonshant. Hoe e kinghic gy s
K= & my?

ond  the 3mu{}ah'm¢.ﬂ poleial awgy 1
Ugrs = 4y

Usuall_«j we A W0 moman s e e O_bjec}i moRon

ond Haen m@fj consevahan  mple § wm’
Ef- E_ J'Z

e 4
K‘F + uﬁmu‘)[ = K| +uﬂmu L-

An allorahe o Huic 1
AE=0 =2 AK+ Algraw = 0



Warm Up 4
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252 Box, ramp and spring

A 6.0kg box is released from rest at on the illus-
trated frictionless track. The box slides down the
ramp, passes B and collides with a spring (constant
6000 N/m). While it moves friction and air resistance
can be ignored. (111F2023)

a) Determine the speed of the box at point B.
¥ Defermine the kinetic energy of the-sled when it-is-at_point B.

¢) Determine the maximum distance by which the spring is compressed.
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